R#TZX b~ HEA BIR 02

1. z%KkdOK (S35, AH19308, BHE2o508, C#Hin)

(1) rx10=xx7+72 (2) T4+42=2x6—18
(3) 180—2x2=90+xx3 (4) 160—xxé=280—x><0.5
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2. zEKDK (SH3IBM, AR19308, BEF2550%7, CHhi4s)

(1) xx15=xxT7+176 (2)  z+52=xx10—47
(3) 120—2x3=40+2x2 (4) 150—3:><%:210—x><0.5
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R#7TA N HAiEA BIE 02 EEEHR

1. z%KkdOK (S35, AH19308, BHE2o508, C#Hin)

(1) Tx10=2x 7472

T+42 =2 x6—18

rx10—zx7 = 72 —% 518 42418 = zx6—xx1 —% % IH
rx(10-7 = 72 60 = zx(6-1)
T X3 = 72 60 = T X5h
x - 72:3 60~5 = x
x = 24 B2 T = 12 EZ
*BIHE =] OXMNANZBEIT S & +, - il T 5.
(3) 180—2x2=90+xx3 (4) 16071'><%:28Ofx><0.5
180—90 = zx3+zx2 —kBH xxo.5—xx% — 9280—160 <k
0 = zx(3+2) 1y
xx(O.S 3) - 120
90 = T X5
T X = = 120
90+5 = 3: X
T = 18 -4
® = 720 SR
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2.

cERDE. (SHE3H, A1 230%, BH2250%, CHhan)

(1) xx15=xxT7+176

rXx15—xx7

xx (15 =17)

= 176

= 176

= 176

= 176 +8

(2)  z+52=xx10—47

*BIH =] OHANCHET S & +, - 2T 5.

(3) 120—m 2 x3=40+2 x 2

120 — 40

80

80

80 +5

rX2+xx3

xx (2+3)

—k % IH 52447 = xzx10—xzx1 —k & IH
99 = xx(10-1)
99 = %9
99+9 = T
B2 T = 11 ~EZ
(4) 150fx><%:210—x><0.5
Kk BIH xx0.5—xx% = 210150 <K
1 _
X (05— 6) - 60
T X = = 60
_ L1
T = 60 = 3
B
T = 180 EZ
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